Virginia High School League

Scholastic Bowl, 2001-02 season

State Competition, Match #5

These questions are for use in the Virginia High School League’s Scholastic Bowl competition at the State level. Shawn Pickrell and Adam Fine are the authors of these questions.

All participants and spectators must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a) Release of these questions to any entity not affiliated with the State competition before all State champions have been announced is prohibited. This is meant to keep question security.

(b) Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all State champions have been determined. This is also meant to keep question security.

(c) After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged.

(d) These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia. This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups
1.
Who is the Jewish banker that insists on the collection of his “pound of flesh” in the play The Merchant of Venice?

ANSWER: SHYLOCK
2.
Since they used chlorofluorocarbons as propellants, which were found to destroy the ozone layer, what cans containing solid or liquid particles suspended in a gas have been phased out by most industrialized nations?

ANSWER:  aerosols
3.
What is the fractional equivalent, in lowest terms, of the decimal .5625 (point five-six-two-five)?

ANSWER:  9/16 (nine sixteenths)

4. 
The ophicleide (OFF-ih-clide) was the immediate predecessor to this instrument, first developed by Johann Moritz in 1835.  What large valved, upright instrument with a wide conical bore serves as the double bass (BASE) of the brass section of an orchestra?

ANSWER:  tuba
5.
Who was the ruler of South Korea at the start of the Korean War?

ANSWER: Syngman RHEE
6.
What is the next number in the series of binary base numbers 10, 101, 1000, 1011, 1110?

ANSWER:  10001 (in decimal base, it’s the simple arithmetic series “2, 5, 8, 11, 14, 17, etc…”)

7.
Which part of the diencephalon found on the brain stem controls pleasure, hunger, thirst, pain, blood pressure, and sex drive, in addition to influencing the pituitary gland?

ANSWER:  hypothalamus
8.
This five-letter verb refers to the act of procuring something, especially something illicit. As a noun, it can refer to the current status of an athletic event. What is this word that refers specifically to twenty of an object?

ANSWER: SCORE
9.
Who invented the telegraph?

ANSWER: Samuel F. B. MORSE
10.
Celia Cruz and Tito Puente were two of the most prominent musicians in what form of dance music that blends Afro-Cuban and Puerto Rican influences with rock and jazz, and whose name is Spanish for “hot sauce”?

ANSWER:  salsa
11.
THIS IS A COMPUTATION QUESTION. For what two values between 0 and 360 degrees is the cosine equal to the square root of 3 over 2?

ANSWER: 30 and 330 degrees

12.
Under the Dewey Decimal System, literature starts at what number?

ANSWER:  800


13.
Slobodan Milosevic’s war crimes trial is being held in what Dutch city?

ANSWER: THE HAGUE 

14.
What class of organic compounds consists of an R group between an oxygen atom and a carbon-hydrogen combination, examples of which include formaldehyde?

ANSWER: ALDEHYDE
15.
How many stocks are in the Dow Jones Industrial Average?

ANSWER: 30 

Second period: 10 directed questions for each team

Questions with an A after their number will be read to the team that selects set A of questions; questions with a B after their number will be read to the team that selects set B of questions.

1A.
The secant squared of theta minus one equals what quantity?

ANSWER: TANGENT SQUARED OF THETA
1B.
In a periodic function, what name is given to the height of the maximum above the function’s middle line?

ANSWER: AMPLITUDE
2A.
How many chromosomes are found in each human diploid cell?

ANSWER:  46
2B.
U.S. Representative James Traficant is currently on trial for various corruption charges in a federal court. Traficant is a representative of what Midwestern state?

ANSWER: OHIO
3A.
Who was the younger sister of Queen Elizabeth that passed away on February 11?

ANSWER: Princess MARGARET
3B.
What name is given to the part of a wave where displacement is the most negative, or in layman’s terms, the low point of a wave?

ANSWER: TROUGH
4A.
What poem by Percy Bysshe Shelley begins, “I met a traveler from an antique land” and is about the traveler’s visit to a ruined statue?

ANSWER: OZYMANDIAS
4B.
What word do economists used to describe the satisfaction obtained by consuming units of a good?

ANSWER: UTILITY
5A.
Who were the two Washington Post reporters that broke most of the leading stories in Watergate, using a mysterious source known as “Deep Throat?”

ANSWER: Bob WOODWARD and Carl BERNSTEIN
5B.
Whose resemblance to Sydney Carton enables him to heroically take Syndey’s place on the guillotine at the end of the novel A Tale of Two Cities?

ANSWER: Charles DARNAY
6A.
The computer language LISP is an acronym for what two words?

ANSWER: LIST PROCESSING
6B.
THIS IS A COMPUTATION QUESTION. What is the harmonic mean of 3 and 15?

ANSWER: FIVE (2 * 3 * 15 = 90 and 3 + 15 = 18, 90 / 18 = 5)

7A.
What name is given to an acid that can accept a share in an electron pair, or a base that can make available a share in an electron pair?

ANSWER: LEWIS
7B.
Mouser, Fryguy, and Wart were level bosses in what late 1980s 8-bit Nintendo game sequel featuring a pair of plumbers?

ANSWER:  SUPER MARIO BROTHERS 2 (do not accept “Super Mario Brothers”)

8A.
What painting technique uses a mixture of powdered water-soluble paint with an emulsifying agent, such as fig sap or egg yolk?

ANSWER:  tempera
8B.
What is the name of a lever’s point of support?

ANSWER: FULCRUM 

9A.
Who is the mother of Hamlet, Prince of Denmark?

ANSWER: GERTRUDE
9B.
John Paul Jones was the captain of what ship during his legendary duel with the Serapis?

ANSWER: BONHOMME RICHARD
10A.
How many Punic Wars were fought between Rome and Carthage for dominance of the western Mediterranean?

ANSWER: THREE
10B.
What are the preposition objects in the following sentence? John went up the road to visit his friend who was under the weather.

ANSWER: ROAD / WEATHER
Third period: 15 tossups
1.
What term used by the Catholic Church means the remission of punishment still due for a sin that has been absolved, as was often done before the Reformation for people who donated money to the Church?

ANSWER: INDULGENCE
2.
THIS IS A COMPUTATION QUESTION. What is the slope of the line perpendicular to the line 2x + 5y = 35?

ANSWER:  5/2 (five-halves) or 2 ½ (two and a half)

3.
For several years, due to plagues in Rome, the pope lived in what French city instead of Rome?

ANSWER: AVIGNON (ah-VEEN-yoan)

4.
What condition where an organ protrudes from a cavity that normally contains it most often occurs near the groin, but also has types including femoral, umbilical, and hiatal?

ANSWER:  hernia (accept rupture until “femoral”)

5.
He won an Emmy in 1989 for his role as a sheriff in “In the Heat of the Night,” but what actor who died in 2001 will always be known as uneducated, bigoted father Archie Bunker on the TV series “All in the Family?”

ANSWER:  Carroll O’CONNOR
6.
THIS IS A COMPUTATION QUESTION. In the parabola x = y² - 4y + 3, at what coordinate point can you find the vertex?

ANSWER:  (-1, 2)
7.
Victor Emmanuel II was the first modern king of what European country?

ANSWER: ITALY
8.
He also planted many healing herbs, including pennyroyal and catnip, while drifting on the Ohio River.  However, what man, born John Chapman, became part of American legend for the fruit tree nurseries he planted on his trip?

ANSWER:  Johnny Appleseed
9.
In 1878 William and Andrew Campbell discovered what 64-acre area of limestone chambers with columns, stalactites, and stalagmites, now a tourist attraction located in the Northern Shenandoah Valley?

ANSWER:  Luray Caverns

10.
This religion’s adherents observe an annual daylight fast of 19 days during the month of Ala, abstain from alcoholic beverages, and have a communal gathering every 19 days.  What is this religion, founded a Persian in the nineteenth century, advocates equal rights for both sexes and attempts to synthesize the major world faiths?

ANSWER:  Bahai faith

11.
Twenty-seven bones, including fourteen phalanges, five metacarpals, and eight carpals, are located in what human organ of touch?

ANSWER:  hand
12.
His first sound film, “M,” starred Peter Lorre as a child killer.  Who was this German director of the robotic slave-society picture “Metropolis,” who fled Nazi Germany for Hollywood in the 1930s?

ANSWER:  Fritz Lang
13.
In the proportion a over b equals c over d, what name is given to the numbers a and d, as opposed to the numbers b and c being called means?

ANSWER: EXTREMEs

14.
What educator wrote the book Up From Slavery, an autobiography that chronicles his rise to become the founder of the Tuskegee Institute?

ANSWER:  Booker T. Washington
15.
According to his diary, this US naval officer reached the North Pole on April 6, 1909. Dr. Frederick Cook challenged his claim, claiming to have reached the Pole a year earlier. Who is this man that the scientific community eventually judged as being the first to reach the Pole?

ANSWER: Robert E. PEARY
SPARE QUESTIONS (In the second period, try to replace the question discarded with the a spare question in that subject area – i.e. science for science, social studies for social studies, etc.) Be sure to cross out the questions if/as they are used.

1.
What is the largest city in the state of Texas?

ANSWER: HOUSTON
2.
Her son Horus beheaded her because she allowed Set to be killed.  The daughter of Geb and Nut (NOOT), what goddess reassembled the corpse of her husband Osiris, with the exception of the phallus?

ANSWER:  Isis
3.
What term describes a chemical property such as temperature, density or pressure which does not depend on the size of the sample, as opposed to an extensive property?

ANSWER: INTENSIVE property

4.
In the 1920s version, editor Marianne Moore published modern poetry and criticism.  What literary magazine’s first incarnation, however, occurred eighty years earlier, founded in Boston by several leading transcendentalists?

ANSWER:   The Dial
5.
In geometry, what name is given to a statement accepted as true without proof, as opposed to a theorem, which can be proved?

ANSWER: POSTULATE
All questions copyright 2001 by Shawn Pickrell. Unauthorized use, as described on the first page of this document, is prohibited.


